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2022

176,983 121,531 55,452

176,983 121,531 55,452

1. 176,983 121,531 55,452
1. 176,983 121,531 55,452
1. 121,531 121,531 0
2. 55,452 0o 55,452 ¢ *1—1_ ) + 1,230,000 1,230,000
( 490 ) ( 6,475,000
RFID) : 6,475,000 * 1 =
( 1) : 1,140,000
1,140,000 *1 =
( 1Y ) 18,080,000 o oo oo
* 1 -
( 10 ) : 550,000
550,000 *1 =
( 190 ) : 13,329,000
13,329,000 *1 =
( 10 ) : 550,000
550,000 *1 =
( L0 ) 13,191,000
113,191,000 *1 =
( L4000 ) 611,000
1 611,000 *1 =
( 290 ) : 87,000
87,000 *1 =
( 10 ) 200,000
1 200,000 *1 =
8,684 8,684 0
7,144 7,144 0
1. 7,144 7,144 0
1. 7,144 7,144 0
1. 7,144 7,144 0
1,540 1,540 0
1. 1,440 1,440 0
1. 1,440 1,440 0
1. 1,440 1,440 0
2. 100 100 0
1. 100 100 0
1. 100 100 0
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2022

: 1 ( )
3. 1,277 2,000 -723
1. 1,277 2,000 -723
1. 1,277 2,000 -723
1. 1,277 2,000 -723
1. 1,277 2,000 -723| 1,276,380- 2,000,000 -723,000
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2022

1. 23,202| 8,500 14,702
1. 15,902| 2,100 13,802
1. 15,902| 2,100 13,802
1. 2,100 2,100 0
1. 2,100 2,100 0
2. 13,802 0 13,802
1. 13,802 o 13,802/ ¢ —f 1;;91,300 1 - 13,191,000
( - )S 611?000 x1 = 611,000
2. 7,300 6,400 900
1. 1,800 1,800 0
1. 1,800 1,800 0
1. 1,800 1,800 0
2. 5,500 4,600 900
1. 810 810 0
1. 810 810 0
2. , 570 570 0
1. 300 300 0
2. 270 270 0
3. 2,340 2,340 0
1. 1,800 1,800 0
2. 540 540 0
4. 600 600 0
1. 600 600 0
5. 160 160 0
1. 160 160 0
6. 1,020 120 900
1. 120 120 0
2. 900 0 900 © 900,000- 0= 900,000
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2. / 25,589 24,771 818
1. 16,897 15,580 1,317
1. 16,897 15,580 1,317
1. 14,317 13,000 1,317
1. 14,317| 13,000 1,317(( 1) 187,000 x1 = 87,000
( 1) 11,230,000 *1 = 1,230,000
2. 2,580 2,580 0
1. 2,380 2,380 0
2. 200 200 0
2. 5,845 6,344 -499
.0 1 500 300 200
1. 300 300 0
1. 300 300 0
2.l 1C ) 200 0 200
1. 200 0 200 f( ) x 51 Z - 50,000 200,000
2. 5,345 6,044 -699
1. 100 100 0
1. 100 100 0
2. 1,100 1,100 0
1. 1,100 1,100 0
3. 2,150 2,150 0
1. 2,150 2,150 0
4. 795 1,494 -699
1. 795 1,494 -699 1,494,000 = 795,000- -699,000
5. 1,200 1,200 0
1. 1,200 1,200 0
3. 2,847 2,847 0
1. 2,847 2,847 0

2022 03 30 18 35 49 2



2022

1. 1,687 1,687 0
1. 1,687 1,687 0

2. 1,100 1,100 0

1. 1,100 1,100 0

3. 60 60 0

1. 60 60 0

3. 13,520/ 13,520 0
1. 6,020 6,020 0
1. 3,120 3,120 0

1. 120 120 0

1. 120 120 0

2. 1,200 1,200 0

1. 1,200 1,200 0

3. 800 800 0

1. 500 500 0

2. 300 300 0

4. (Wee) 1,000 1,000 0

1. 500 500 0

2. 500 500 0

2. 2,600 2,600 0

1. 300 300 0

1. 300 300 0

2. 500 500 0

1. 500 500 0

3.SW Al 1,800 1,800 0

1. 1,800 1,800 0

3. 300 300 0

1. 300 300 0

2022 03 30 18 35 49 3



2022

1. 300 300 0
7,500 7,500 0
4,100 4,100 0
1,000 1,000 0
1. 1,000 1,000 0
2,000 2,000 0
1. 2,000 2,000 0
500 500 0
1. 500 500 0
600 600 0
1. 600 600 0
3,400 3,400 0
3,400 3,400 0
1. 3,400 3,400 0
16,110 14,970 1,140
14,640 13,500 1,140
14,640 13,500 1,140
3,900 3,900 0
1. 1,900 1,900 0
2. 2,000 2,000 0
10,740 9,600 1,140

1. 10,740 9,600 1,140 538 —i £ 30,000 *1 1,140,000
1,470 1,470 0
1,470 1,470 0
240 240 0
1. 240 240 0
1,000 1,000 0
1. 1,000 1,000 0

2022 03 30 18 35 49 4




2022

3. 200 200 0
1. 200 200 0
4. 30 30 0
1. 30 30 0
5. 5,720 5,420 300
1. 500 500 0
1. 500 500 0
1. 500 500 0
1. 500 500 0
2. 4,920 4,920 0
1. 4,920 4,920 0
1. 4,920 4,920 0
1. 4,920 4,920 0
3. 300 0 300
1. 300 0 300
1. 300 0 300
1. 300 0 300 : 300,000~ 0= 300,000
6. 96,303 58,534 37,769
1. 14,590 14,590 0
1. 14,590 14,590 0
1. 5,140 5,140 0
1. 2,140 2,140 0
2. 3,000 3,000 0
2. 8,200 8,200 0
1. 1,050 1,050 0
2. 150 150 0
3. 7,000 7,000 0
3. 1,250 1,250 0

2022 03 30 18 35 49 5
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1. 800 800 0
2. 450 450 0
80,313 42,544 37,769
80,313 42,544 37,769
17,143 17,143 0
1. 10,320 10,320 0
2. 960 960 0
3. 5,863 5,863 0
14,896 9,645 5,251
1. 1,000 1,440 -440 1,000, 000- -440,000
1,440,000 =
2. 13,608 7,917 5,691 8,233,000~ -784,000
4,017,000 =
( 1) (RFID) 6,475,000
1 6,475,000 *1 =
3. 288 288 0
15,756 15,756 0
1. 1,956 1,956 0
2. 13,800 13,800 0
13,879 0 13,879
1. 13,879 0 13,879 ( 1) 13,329,000
13,329,000 x1 =
( 1) 550,000
550,000 x 1 =
18,639 0 18,639
1 18,639 0 18,639 (>< . :1 ) : 18,089,000 18,089,000
( 1) 550,000
550,000 x1 =
1,400 1,400 0
400 400 0
400 400 0
1. 400 400 0
1,000 1,000 0
1,000 1,000 0
2022 03 30 18 35 49 6



2022

1. 600 600 0

2. 400 400 0

7. 6,500 6,500 0
1. 6,500 6,500 0

1. 6,500 6,500 0

1. 6,500 6,500 0

1. 6,500 6,500 0
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